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QUESTION 1

Which one of the following statements about STONITH is NOT true?

A. You can use hardware devices such as HP ILO or Dell DRAC management boards for STONITH.
B. Resources will migrate only after a STONITH operation has been issued successfully.

C. It is recommended to use STONITH to increase the integrity of the cluster.

D. Null STONITH is a good solution if you have guaranteed the integrity of the file systems used in your cluster in
another way.

E. When setting up SSHSTONITH, you should use a dedicated communications link for the STONITH traffic in the
cluster.

Correct Answer: E

QUESTION 2

Which of the the following cluster infrastructure services are provided by heartbeat (versions 3 and post 2.1)? (Specify
TWO correct answers)

A. membership

B. communication

C. advanced resource management
D. STONITH

E. service migration

Correct Answer:. AB

QUESTION 3

With KVM, when using VNC as graphical output, how can the absolute positioning of the mouse pointer be assured?
A. It cannot be assured. There are always two mouse pointers in VNC; the real pointer and the virtual pointer.

B. Using the mouse absolute option

C. No additional option is required; this works out of the box.

D. Using the usb usbdevice tablet options

E. Using the vnc altgrab options

Correct Answer: D
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QUESTION 4

In order to use HAProxy to balance incoming connections to a pool of email servers, which one of the following modes
should be used?

A. mode tcp

B. mode mailproxy
C. mode smtp

D. mode email

Correct Answer: A

QUESTION 5

Which of the following Messaging Layers are supported by Pacemaker? (Select TWO correct answers)
A. Heartbeat

B. OpenAlS

C. DRBD

D. Red Hat Cluster Suite

E. Slurm

Correct Answer:. AB
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